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These are the answers to Quiz 8 from Honor Calculus II redone with Maxima.

(%1i1) fl:sqrt(x);
£2:1/2%(x-1);
(hol) /x

o2) & 51

(%13) al:integrate((f1+£2)/2%(£f1-£2),x,1,3+2*sqrt(2));
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(%16) expand(al);
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(%18) Il:integrate(y*(2xy+1-1),y,0,1);
I2:integrate(y*x(2xy+1-y~2),y,1,1+sqrt(2));
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(%110) expand(I1+I2);
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(%111) A:integrate(1/x-1/2,x,1,2);

(o11) log(2) — 5

(%112) xc:1/Axintegrate(x*(1/x-1/2),x,1,2);
v
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(%1i14) expand(xc);
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(%115) xc2:1/Axintegrate((1+1/y)/2x(1/y-1),y,1/2,1);
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(%118) expand(xc2);
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yc:1/Axintegrate(y*(1/y-1),y,1/2,1);
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expand (yc) ;
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8log (2) —4

yc2:1/Axintegrate ((1/x+1/2)/2%(1/x-1/2) ,x,1,2);
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expand(yc2) ;
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V:2%Ypi*xc*A;

™

2
A:integrate(3*x-x72,x,0,3);

U oo

:integrate(sqrt (1+(4-2%x)"~2),x,0,3)+3*sqrt(2) ;

asmh4:4\/ﬁ+asmh24+2\/5+3\/§

fisqrt (1+(2xx*cos(x72))"2);

N/4xzcos(x2)2+-1

quad_qags(f,x,0,1);
[1.349235228758796,4.9956529948368953 X 10_13,21,0]




